

A Certain Classes of Univalent Functions of Order Gamma having Positive Coefficients Attributed to An Extension of Al-Oboudi Operator

M.Shanthi

*Department of Mathematics, Guru Nanak
College, India, shanthisurya.ravikumar@gmail.com.*

Abstract

In this paper, a new class $\kappa - ST^\lambda(\gamma, \delta, \beta)$ consisting of κ -uniformly starlike, analytic, univalent functions of order γ and type δ with positive coefficients and another new class $\kappa - UCV^\lambda(\gamma, \delta, \beta)$ consisting of κ -uniformly convex, analytic, univalent functions of order γ and type δ with positive coefficients attributed to an extension of Al-Oboudi operator are introduced. We acquire coefficient estimates, distortion theorems, closure theorems and convolution results for the functions belonging to the mentioned classes.

Keywords: Al-Oboudi operator, analytic, convex, convolution, starlike, univalent.

1. Introduction

Let \mathcal{A} denotes the class of functions of the form

$$f(z) = z + \sum_{i=2}^{\infty} a_i z^i \quad (a_i \geq 0) \tag{1}$$

which are analytic in the open unit disk $U = \{z \in \mathbb{C}; |z| < 1\}$.

In this paper, we make use of an operator D_λ^β which is an extension of Al-Oboudi operator D_λ^n ($\lambda \geq 0; n \in \mathbb{N}$).

This linear operator is defined by $D_\lambda^\beta: \mathcal{A} \rightarrow \mathcal{A}$,

$$D_\lambda^\beta f(z) = z + \sum_{i=2}^{\infty} [1 + (i-1)\lambda]^\beta a_i z^i$$

($\lambda, \beta \in \mathbb{R}; a_i \geq 0; \beta \geq 0; \lambda \geq 0; z \in U$).

Many authors (see for example [1],[2],[3]) have studied various classes of the Al-Oboudi operator and its extension.

Let us now define two new subclasses $\kappa - ST^\lambda(\gamma, \delta, \beta)$ and $\kappa - UCV^\lambda(\gamma, \delta, \beta)$ of \mathcal{A} .

Definition 1.1.

[5] Let $\kappa - ST^\lambda(\gamma, \delta, \beta)$ denotes the class of $\kappa -$ uniformly starlike, analytic, univalent functions of order γ and type δ which satisfies the inequality

$$\begin{aligned}
 & \operatorname{Re} \left\{ \frac{D_\lambda^{\beta+1} f(z)}{D_\lambda^\beta f(z)} - \gamma \right\} \\
 & > \kappa \left| \frac{D_\lambda^{\beta+1} f(z)}{D_\lambda^\beta f(z)} \right. \\
 & \left. - \delta \right| \tag{2}
 \end{aligned}$$

$(\lambda, \beta \geq 0; 0 \leq \gamma < \delta \leq 1; \kappa(1 - \delta) < (1 - \gamma); z \in U)$.

Definition 1.2.

Let $\kappa - UCV^\lambda(\gamma, \delta, \beta)$ denotes the class of $\kappa -$ uniformly convex, analytic, univalent functions of order γ and type δ if

$$\operatorname{Re} \left\{ 1 + \frac{D_\lambda^{\beta+2} f(z)}{D_\lambda^{\beta+1} f(z)} - \gamma \right\} > \kappa \left| 1 + \frac{D_\lambda^{\beta+2} f(z)}{D_\lambda^{\beta+1} f(z)} - \delta \right| \tag{3}$$

$(\lambda, \beta \geq 0; 0 \leq \gamma < \delta \leq 1; \kappa(1 - \delta) < (1 - \gamma); z \in U)$.

It follows from (2) and (3) that

$$f \in \kappa - UCV^\lambda(\gamma, \delta, \beta) \Leftrightarrow z f' \in \kappa - ST^\lambda(\gamma, \delta, \beta) .$$

By specializing γ, δ, κ and λ , we acquire the subsequent subclasses examined by other researchers.

(i) $1 - ST^\lambda(\alpha, 1, \beta) = TS_p^\lambda(\alpha, \beta)$

and

$$1 - UCV^\lambda(\alpha, 1, \beta) = TV^\lambda(\alpha, \beta)$$

(see [3]);

(ii) $\kappa - ST^1(\alpha, 0, 1) = \kappa - ST(\alpha, 1) = SD(\kappa, \alpha)$

and

$$\kappa - UCV^1(\alpha, 0, 1) = \kappa - UCV(\alpha, 1) = KD(\kappa, \alpha)$$

(see [4], [5], [6]);

$$(iii) \quad 1 - ST^1(\alpha, 1, 0) = TS_p^1(\alpha, 0) = 1 - ST(\alpha, 1) = S_p(\alpha) = T^*\left(\frac{1+\alpha}{2}\right)$$

and

$$1 - UCV^1(\alpha, 1, 0) = TV^1(\alpha, 0) = 1 - UCV(\alpha, 1) = UCV(\alpha) = C^*\left(\frac{1+\alpha}{2}\right)$$

(see [3],[5],[7]);

$$(iv) \quad \kappa - ST^1(0, 1, 0) = \kappa - ST(0, 1) = \kappa - ST$$

and

$$\kappa - UCV^1(0, 1, 0) = \kappa - UCV(0, 1) = \kappa - UCV$$

(see [5],[8],[9]);

$$(v) \quad 1 - ST^1(0, 1, 0) = TS_p^1(0, 0) = 1 - ST(0, 1) = 1 - ST = S_p$$

and

$$1 - UCV^1(0, 1, 0) = TV^1(0, 0) = 1 - UCV(0, 1) = 1 - UCV = UCV$$

(see [3],[5], [7], [8],[9],[10],[11],[12],[13]).

The objective of this article is to study various amusing properties of the functions in the classes

$$\kappa - ST^\lambda(\gamma, \delta, \beta) \quad \text{and} \quad \kappa - UCV^\lambda(\gamma, \delta, \beta).$$

2. Coefficient Estimates

Theorem 2.1.

A function $f(z)$ of the form (1) belongs to the class $\kappa - ST^\lambda(\gamma, \delta, \beta)$ if and only if

$$\sum_{i=2}^{\infty} [1 + (i-1)\lambda]^\beta [\kappa(1-\delta + (i-1)\lambda) + (1-\gamma + (i-1)\lambda)] a_i < (1-\gamma) - \kappa(1-\delta) \tag{4}$$

$$(0 \leq \gamma < \delta \leq 1; \lambda, \beta \geq 0; a_i \geq 0; \kappa(1-\delta) < (1-\gamma)).$$

Proof . Let $f \in \kappa - ST^\lambda(\gamma, \delta, \beta)$

$$(0 \leq \gamma < \delta \leq 1; \lambda, \beta \geq 0; \kappa(1-\delta) < (1-\gamma)).$$

Then

$$\begin{aligned}
 & R_e \left\{ \frac{D_\lambda^{\beta+1} f(z)}{D_\lambda^\beta f(z)} - \gamma \right\} - \kappa \left| \frac{D_\lambda^{\beta+1} f(z)}{D_\lambda^\beta f(z)} - \delta \right| > 0 \\
 & R_e \left\{ \frac{1 + \sum_{i=2}^\infty [1 + (i-1)\lambda]^{\beta+1} a_i z^{i-1}}{1 + \sum_{i=2}^\infty [1 + (i-1)\lambda]^\beta a_i z^{i-1}} - \gamma \right\} - \kappa \left| \frac{1 + \sum_{i=2}^\infty [1 + (i-1)\lambda]^{\beta+1} a_i z^{i-1}}{1 + \sum_{i=2}^\infty [1 + (i-1)\lambda]^\beta a_i z^{i-1}} - \delta \right| \\
 & > 0 \\
 & R_e \left\{ (1 - \gamma) + \sum_{i=2}^\infty [1 + (i-1)\lambda]^\beta [1 + (i-1)\lambda - \gamma] a_i z^{i-1} \right\} \\
 & \quad - \kappa \left| (1 - \delta) + \sum_{i=2}^\infty [1 + (i-1)\lambda]^\beta [1 + (i-1)\lambda - \delta] a_i z^{i-1} \right| > 0
 \end{aligned}$$

Letting z to take real values and $|z| \rightarrow 1$, we acquire

$$\begin{aligned}
 & (1 - \gamma) - \kappa (1 - \delta) - \sum_{i=2}^\infty [1 + (i-1)\lambda]^\beta [\kappa(1 - \delta + (i-1)\lambda) + (1 - \gamma + (i-1)\lambda)] a_i \\
 & > 0
 \end{aligned}$$

This implies

$$\sum_{i=2}^\infty [1 + (i-1)\lambda]^\beta [\kappa(1 - \delta + (i-1)\lambda) + (1 - \gamma + (i-1)\lambda)] a_i < (1 - \gamma) - \kappa(1 - \delta)$$

$$(0 \leq \gamma < \delta \leq 1; \lambda, \beta \geq 0; a_i \geq 0; \kappa(1 - \delta) < (1 - \gamma)).$$

Conversely,

$$\begin{aligned}
 & R_e \left\{ \frac{D_\lambda^{\beta+1} f(z)}{D_\lambda^\beta f(z)} - \gamma \right\} - \kappa \left| \frac{D_\lambda^{\beta+1} f(z)}{D_\lambda^\beta f(z)} - \delta \right| \\
 & = R_e \left\{ \frac{1 + \sum_{i=2}^\infty [1 + (i-1)\lambda]^{\beta+1} a_i z^{i-1}}{1 + \sum_{i=2}^\infty [1 + (i-1)\lambda]^\beta a_i z^{i-1}} - \gamma \right\} \\
 & \quad - \kappa \left| \frac{1 + \sum_{i=2}^\infty [1 + (i-1)\lambda]^{\beta+1} a_i z^{i-1}}{1 + \sum_{i=2}^\infty [1 + (i-1)\lambda]^\beta a_i z^{i-1}} - \delta \right| \\
 & = R_e \left\{ \frac{(1 - \gamma) + \sum_{i=2}^\infty [1 + (i-1)\lambda]^\beta [1 + (i-1)\lambda - \gamma] a_i z^{i-1}}{1 + \sum_{i=2}^\infty [1 + (i-1)\lambda]^\beta a_i z^{i-1}} \right\} \\
 & \quad - \kappa \left| \frac{(1 - \delta) + \sum_{i=2}^\infty [1 + (i-1)\lambda]^\beta [1 + (i-1)\lambda - \delta] a_i z^{i-1}}{1 + \sum_{i=2}^\infty [1 + (i-1)\lambda]^\beta a_i z^{i-1}} \right|
 \end{aligned}$$

$$\geq \frac{(1 - \gamma) - \kappa(1 - \delta) - \sum_{i=2}^{\infty} [1 + (i - 1)\lambda]^{\beta} [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)] a_i}{|1 + \sum_{i=2}^{\infty} [1 + (i - 1)\lambda]^{\beta} a_i z^{i-1}|}$$

> 0 by (4).

Thus $f \in \kappa - ST^{\lambda}(\gamma, \delta, \beta)$.

Corollary2.2.

If $f \in \kappa - ST^{\lambda}(\gamma, \delta, \beta)$, then

$$a_i \leq \frac{(1 - \gamma) - \kappa(1 - \delta)}{[1 + (i - 1)\lambda]^{\beta} [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)]} \quad (i \geq 2; i \in \mathbb{N}) \tag{5}$$

The equality holds for the function

$$f(z) = z + \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{[1 + (i - 1)\lambda]^{\beta} [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)]} z^i \quad (i \geq 2; i \in \mathbb{N}) \tag{6}$$

By similar method adapted in Theorem2.1, we get the Theorem 2.3.

Theorem2.3.

A function $f(z)$ of the form (1) belongs to the class $\kappa - UCV^{\lambda}(\gamma, \delta, \beta)$ if and only if

$$\sum_{i=2}^{\infty} [1 + (i - 1)\lambda]^{\beta+1} [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)] a_i < (1 - \gamma) - \kappa(1 - \delta) \tag{7}$$

$(0 \leq \gamma < \delta \leq 1; \lambda, \beta \geq 0; a_i \geq 0; \kappa(1 - \delta) < (1 - \gamma); z \in U)$.

Corollary2.4.

If $f \in \kappa - UCV^{\lambda}(\gamma, \delta, \beta)$ then

$$a_i \leq \frac{(1 - \gamma) - \kappa(1 - \delta)}{[1 + (i - 1)\lambda]^{\beta+1} [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)]} \quad (i \geq 2; i \in \mathbb{N}) \tag{8}$$

The equality holds for the function

$$f(z) = z + \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{[1 + (i - 1)\lambda]^{\beta+1} [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)]} z^i \quad (i \geq 2; i \in \mathbb{N}) \tag{9}$$

3. Distortion Theorems

Theorem3.1.

If the functions $f \in \kappa - ST^\lambda(\gamma, \delta, \beta)$, then

$$|z| - \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^\beta [\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} |z|^2 \leq |f(z)|$$

$$\leq |z| + \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^\beta [\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} |z|^2.$$

The result is sharp.

Proof Since $\psi(i) = [1 + (i - 1)\lambda]^\beta [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)]$ is an increasing function of i

($i \geq 2; i \in \mathbb{N}$), considering Theorem 2.1,

$$\psi(2) \sum_{i=2}^{\infty} a_i \leq \sum_{i=2}^{\infty} \psi(i) a_i \leq (1 - \gamma) - \kappa(1 - \delta).$$

Therefore,

$$\sum_{i=2}^{\infty} a_i \leq \frac{(1 - \gamma) - \kappa(1 - \delta)}{\psi(2)}.$$

Hence

$$|f(z)| \leq |z| + \sum_{i=2}^{\infty} a_i |z|^i$$

$$|f(z)| \leq |z| + \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^\beta [\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} |z|^2.$$

Similarly we get,

$$|f(z)| \geq |z| - \sum_{i=2}^{\infty} a_i |z|^i$$

$$|f(z)| \geq |z| - \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^\beta [\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} |z|^2.$$

This completes the proof of Theorem3.1.

Finally the result is sharp for the following function

$$\begin{aligned}
 & f(z) \\
 & = z \\
 & + \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^\beta [\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} z^2
 \end{aligned} \tag{10}$$

$(0 \leq \gamma < \delta \leq 1; \lambda, \beta \geq 0; \kappa(1 - \delta) < (1 - \gamma)).$

Theorem 3.2.

If the function $f \in \kappa - ST^\lambda(\gamma, \delta, \beta)$, then

$$\begin{aligned}
 & 1 - \frac{2[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^\beta [\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} |z| \\
 & \leq |f'(z)| \\
 & \leq 1 + \frac{2[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^\beta [\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} |z|
 \end{aligned}$$

The result is sharp.

Proof. Since $\frac{\psi(i)}{i}$ is an increasing function of i ($i \geq 2$), considering Theorem 2.1, we acquire

$$\frac{\psi(2)}{2} \sum_{i=2}^{\infty} i a_i \leq \sum_{i=2}^{\infty} \psi(i) a_i \leq (1 - \gamma) - \kappa(1 - \delta).$$

Therefore,

$$\sum_{i=2}^{\infty} i a_i \leq \frac{2[(1 - \gamma) - \kappa(1 - \delta)]}{\psi(2)}.$$

Hence,

$$|f'(z)| \leq \left[1 + \sum_{i=2}^{\infty} i a_i |z| \right] \leq \left[1 + \frac{2[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^\beta [\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} |z| \right]$$

Similarly we get,

$$|f'(z)| \geq \left[1 - \sum_{i=2}^{\infty} i a_i |z| \right] \geq \left[1 - \frac{2[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^\beta [\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} |z| \right]$$

Finally the result is sharp for the function $f(z)$ given by (10).

By similar method adapted in the Theorem 3.1 and Theorem 3.2, we get Theorem 3.3 and Theorem 3.4

Theorem 3.3.

If the function $f \in \kappa - UCV^\lambda(\gamma, \delta, \beta)$, then

$$|z| - \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^{\beta+1}[\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} |z|^2 \leq |f(z)|$$

$$\leq |z| + \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^{\beta+1}[\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} |z|^2.$$

The result becomes sharp for the following function

$$f(z)$$

$$= z$$

$$+ \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^{\beta+1}[\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} z^2 \tag{11}$$

$(0 \leq \gamma < \delta \leq 1; \lambda, \beta \geq 0; \kappa(1 - \delta) < (1 - \gamma))$.

Theorem 3.4.

If the function $f \in \kappa - UCV^\lambda(\gamma, \delta, \beta)$, then

$$1 - \frac{2[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^{\beta+1}[\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} |z|$$

$$\leq |f'(z)|$$

$$\leq 1 + \frac{2[(1 - \gamma) - \kappa(1 - \delta)]}{(1 + \lambda)^{\beta+1}[\kappa(1 - \delta + \lambda) + (1 - \gamma + \lambda)]} |z|.$$

The result becomes sharp for the function defined in (11).

4. Closure Theorems

Theorem 4.1.

Let $f_1(z) = z$ and

$$f_i(z) = z + \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{[1 + (i - 1)\lambda]^\beta [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)]} z^i \quad (i \geq 2; i \in \mathbb{N}).$$

Then $f \in \kappa - ST^\lambda(\gamma, \delta, \beta)$ if and only if it can be expressed in the form

$$f(z) = \sum_{i=1}^{\infty} \lambda_i f_i(z), \text{ where } \lambda_i \geq 0 \text{ and } \sum_{i=1}^{\infty} \lambda_i = 1.$$

Proof. Let $f(z) = \sum_{i=1}^{\infty} \lambda_i f_i(z)$, where $\lambda_i \geq 0$ and $\sum_{i=1}^{\infty} \lambda_i = 1$.

We consider

$$\begin{aligned} f(z) &= \sum_{i=1}^{\infty} \lambda_i f_i(z) \\ &= \lambda_1 z + \sum_{i=1}^{\infty} \lambda_i \left[z + \frac{[(1-\gamma) - \kappa(1-\delta)]}{[1 + (i-1)\lambda]^\beta [\kappa(1-\delta + (i-1)\lambda) + (1-\gamma + (i-1)\lambda)]} z^i \right] \\ &= \sum_{i=1}^{\infty} \lambda_i z + \sum_{i=2}^{\infty} \lambda_i \frac{[(1-\gamma) - \kappa(1-\delta)]}{[1 + (i-1)\lambda]^\beta [\kappa(1-\delta + (i-1)\lambda) + (1-\gamma + (i-1)\lambda)]} z^i \\ &= z + \sum_{i=2}^{\infty} \lambda_i \frac{[(1-\gamma) - \kappa(1-\delta)]}{[1 + (i-1)\lambda]^\beta [\kappa(1-\delta + (i-1)\lambda) + (1-\gamma + (i-1)\lambda)]} z^i. \end{aligned}$$

Since

$$\begin{aligned} &\sum_{i=2}^{\infty} \frac{[1 + (i-1)\lambda]^\beta [\kappa(1-\delta + (i-1)\lambda) + (1-\gamma + (i-1)\lambda)] \lambda_i [(1-\gamma) - \kappa(1-\delta)]}{[1 + (i-1)\lambda]^\beta [\kappa(1-\delta + (i-1)\lambda) + (1-\gamma + (i-1)\lambda)]} \\ &= [(1-\gamma) - \kappa(1-\delta)] \sum_{i=2}^{\infty} \lambda_i \\ &= [(1-\gamma) - \kappa(1-\delta)](1 - \lambda_1) < (1-\gamma) - \kappa(1-\delta). \end{aligned}$$

The condition (4) for $f(z) = \sum_{i=1}^{\infty} \lambda_i f_i(z)$ is satisfied.

Thus $f \in \kappa - ST^\lambda(\gamma, \delta, \beta)$.

Conversely, we suppose that $f \in \kappa - ST^\lambda(\gamma, \delta, \beta)$,

$$f(z) = z + \sum_{i=2}^{\infty} a_i z^i \quad (a_i \geq 0)$$

and we take

$$\lambda_i = \frac{[1 + (i-1)\lambda]^\beta [\kappa(1-\delta + (i-1)\lambda) + (1-\gamma + (i-1)\lambda)]}{[(1-\gamma) - \kappa(1-\delta)]} a_i \geq 0,$$

$(0 \leq \gamma < \delta \leq 1; \lambda, \beta \geq 0; \kappa(1 - \delta) < (1 - \gamma))$.

with $\lambda_1 = 1 - \sum_{i=2}^{\infty} \lambda_i$ so that $f(z) = \sum_{i=2}^{\infty} \lambda_i f_i(z)$.

Using the condition (4) we obtain,

$$\begin{aligned} \sum_{i=2}^{\infty} \lambda_i &= \frac{1}{[(1 - \gamma) - \kappa(1 - \delta)]} \sum_{i=2}^{\infty} [1 + (i - 1)\lambda]^{\beta} [\kappa(1 - \delta + (i - 1)\lambda) \\ &\quad + (1 - \gamma + (i - 1)\lambda)] a_i \\ &< \frac{1}{[(1 - \gamma) - \kappa(1 - \delta)]} [(1 - \gamma) - \kappa(1 - \delta)] = 1 \end{aligned}$$

so that $1 - \lambda_1 < 1$ or $\lambda_1 > 0$

This proves Theorem 4.1.

Corollary4.2.

The extreme points of $\kappa - ST^{\lambda}(\gamma, \delta, \beta)$ are $f_1(z) = z$ and

$$f_i(z) = z + \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{[1 + (i - 1)\lambda]^{\beta} [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)]} z^i \quad (i \geq 2, i \in \mathbb{N}).$$

By similar method adapted in Theorem 4.1, we obtain Theorem 4.3.

Theorem4.3

Let $f_1(z) = z$ and

$$f_i(z) = z + \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{[1 + (i - 1)\lambda]^{\beta+1} [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)]} z^i \quad (i \geq 2; i \in \mathbb{N}).$$

Then $f \in \kappa - UCV^{\lambda}(\gamma, \delta, \beta)$ if and only if

$$f(z) = \sum_{i=1}^{\infty} \lambda_i f_i(z), \text{ where } \lambda_i \geq 0 \text{ and } \sum_{i=1}^{\infty} \lambda_i = 1.$$

Corollary4.4.

The extreme points of $f \in \kappa - UCV^{\lambda}(\gamma, \delta, \beta)$ are $f_1(z) = z$ and

$$f_i(z) = z + \frac{[(1 - \gamma) - \kappa(1 - \delta)]}{[1 + (i - 1)\lambda]^{\beta+1} [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)]} z^i \quad (i \geq 2; i \in \mathbb{N}).$$

5. Convolution results

Definition5.1.

[14]For the two functions $f, g \in \mathcal{A}$, with

$$f(z) = z + \sum_{i=2}^{\infty} a_i z^i \quad (a_i \geq 0 ; z \in U)$$

and

$$g(z) = z + \sum_{i=2}^{\infty} b_i z^i \quad (b_i \geq 0 ; z \in U),$$

the convolution $f * g$ is defined by

$$(f * g)(z) = z + \sum_{i=2}^{\infty} a_i b_i z^i .$$

Theorem5.2.

If $f, g \in \kappa - ST^\lambda(\gamma, \delta, \beta)$ with

$$f(z) = z + \sum_{i=2}^{\infty} a_i z^i \quad (a_i \geq 0 ; z \in U),$$

and

$$g(z) = z + \sum_{i=2}^{\infty} b_i z^i \quad (b_i \geq 0 ; z \in U),$$

then $f * g \in \kappa - ST^\lambda(\gamma, \delta, \beta)$.

Proof. Let $f, g \in \kappa - ST^\lambda(\gamma, \delta, \beta)$. Therefore

$$\sum_{i=2}^{\infty} [1 + (i - 1)\lambda]^\beta [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)] a_i < (1 - \gamma) - \kappa(1 - \delta)$$

and

$$\sum_{i=2}^{\infty} [1 + (i - 1)\lambda]^\beta [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)] b_i < (1 - \gamma) - \kappa(1 - \delta)$$

We know that

$$(f * g)(z) = z + \sum_{i=2}^{\infty} a_i b_i z^i \quad (a_i b_i \geq 0 ; z \in U).$$

Since $g \in \mathcal{A}$, by a known result, we have

$$\sum_{i=2}^{\infty} i b_i \leq 1 \text{ and}$$

we observe that $b_i < 1 (i \geq 2)$.

This gives,

$$\begin{aligned} & \sum_{i=2}^{\infty} [1 + (i - 1)\lambda]^\beta [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)] a_i b_i \\ & < \sum_{i=2}^{\infty} [1 + (i - 1)\lambda]^\beta [\kappa(1 - \delta + (i - 1)\lambda) + (1 - \gamma + (i - 1)\lambda)] a_i \\ & < (1 - \gamma) - \kappa(1 - \delta). \end{aligned}$$

Hence

$$f * g \in \kappa - ST^\lambda(\gamma, \delta, \beta).$$

By similar method adapted in Theorem 5.2, we obtain Theorem 5.3.

Theorem 5.3.

If $f, g \in \kappa - UCV^\lambda(\gamma, \delta, \beta)$ with

$$f(z) = z + \sum_{i=2}^{\infty} a_i z^i \quad (a_i \geq 0; z \in U),$$

and

$$g(z) = z + \sum_{i=2}^{\infty} b_i z^i \quad (b_i \geq 0; z \in U),$$

then

$$f * g \in \kappa - UCV^\lambda(\gamma, \delta, \beta).$$

Acknowledgement

I thank the referees of this article.

References

- [1] Acu. M., Owa, S., Note on a class of starlike functions, Proceeding of the international short joint work on study on calculus operators in univalent function theory, Kyoto, (2006), 1-10.
- [2] Al-Oboudi, F.M., On univalent functions defined by a generalized Salagean operator, Ind.J. Maths. Sci, (2004), No. 25-28, 1429-1436.

- [3] Sudharsan, T.V., Thirumalaisamy, R., Subramanian, K.G., Mugur. Acu, A class of analytic functions based on an extension of Al-Oboudi operator, *Acta Universitatis Apulensis*, 21 (2010).79-88.
- [4] Bharati, R., Parvatham,R., & Swaminathan, A., On subclasses of uniformly convex functions and corresponding class of starlike functions,*TamkangJournal of Mathematics*, 28(1), (1996), 17-32.
- [5] El-Aswah, R.M.,Aoef,M.K., &Hassan, A.A., Certain New classes of Analytic functions with varying arguments, *Journal of Complex Analysis*,(2013), Article ID958210,1-5.
- [6] Shams, S., Kulkarni, S.R. &Jahangir, J.M., Classes of uniformly starlike and convex functions, *International Journal of Mathematics and Mathematical Sciences*, 53-56, (2004), 2959-2961.
- [7] Ronning, F., Uniformly convex functions and a corresponding class of starlike functions, *Proc.Amer. Math Soc.*, 118(1), (1993),189-196.
- [8] Kanas,S. & Wisniowska,A., Conic regions and k-uniform convexity, *Journal of Computational and Applied Mathematics*, 105(1-2), (1999) 327-336.
- [9] Kanas, S. & Wisniowska, A., Conic domains and starlike functions, *Romanian Journal of Pure and Applied Mathematics*, 45 (4), (2000), 647-657.
- [10] Goodman, A.W., On uniformly convex functions, *Annales Polonici Mathematici*, 56(1), (1991), 87-92.
- [11] Goodman, A.W., On uniformly starlike functions, *Journal of Mathematical Analysis and Applications*, 155(2), (1991), 364-370.
- [12] Ma,W.C.& Minda, D., Uniformly convex functions, *Annales Polonici Mathamatici*, 57(2), (1992), 165-175.
- [13] Ronning, F., On starlike functions associated with parabolic regions, *Annales Universitatis Mariae Curie-Sklodowska, SectionA*, 45(1991), 117-122.
- [14] Vijayalakshmi, S.P., Sudharsan, T.V., Adolf Stephen, B., Acu, M.On a certain subclasses of analytic functions based on Al-Oboudi operator, *Acta Universitatis Apulensis*, 34(2013), 273-284.

